Start-Up failure

- A Start-Up Failure occurred during the START of the state machine
Convergence: the STO PLL speed has to be N times in the

is reached the convergence is checked to go out of the Start
state in the Time dedicated for the Start-Up.
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- Reasons for Start-Up failure:

- The minimum start-up speed is too high

—>The range of the comparison speed is too narrow
- The time for start-up is too short

- The final ramp of the start-up phase is too low

- The speed measured is not reliable (PLL)

—>Too much load



Start-Up failure
- A Start-Up Failure occurred during the SWITCH OVER of the state machine
Closed loop: At the end of the pre defined time for the Switch Over state, the virtual speed sensor

(VSS) has to be in the The Switch Over state has to take place during the rev-up
phases. When the loop is closed we go out of the Switch Over state and the rev-up is over.
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